HASEI RN A A S 77 T T BRI RS 1/2
S Ja— )~ —ry T 7 T 38— 27 Bk (50m)
WA : 20254E7H30H (k) ~7TH31H (CK)

No. 131 Z&F 4x50m 21— L— B A LL—R R smm 14981
R AL -49.
L 15~187% >
F—L4 7K & =
NN T 2/4 1:51.73
27. 40 55.62 1:24.40
1 e HPE il 27. 40
2 KT FiLs =1 28. 22
3 &+ HE M3 28.78
4 RJE WA 3 27.33
2 HUZSS 2/ 6 1:53.49
27.58 56.55 1:23.62
1 RS =3 27.58
2 HH B =3 28.97
3 M BB =3 27.07
4wl FEHE =) 29.87
3 BAEAKIKTER 2/ 3 1:54.49
29. 72 59.61 1:27.63
1 ®H  BEE il 29. 72
2 INEILFELR M3 29. 89
3 HEfE ERY = 28.02
4 dris AL = 26. 86
4 A K - i 2/ 5 1:54.76
28.51 57.91 1:26.37
1 dbR R = 28. 51
2 kW EiE =0 29. 40
3 HEH HA =1 28. 46
4 AR FLE =) 28. 39
5 JFHHFES S 1/ 5 1:55.07
27. 46 56.97 1:25.74
1 Bor mEsk =3 27. 46
2 F=3 2 29.51
3 i/ EHLE il 28. 77
4 R st E2 29. 33
6 7R 1/ 3 1:55.83
29. 81 59.37 1:28.04
1 KBS =2 29. 81
2 BRIk =3 29. 56
3 EHH WIR i3 28.67
4 EH XX mEil 27.79
T Ve VERE 1/ 7 1:57.20
29.51 58.37 1:28.02
1 ¥l TE = 29. 51
2 =f4 #H+F M3 28. 86
3 R Ak il 29. 65
4 76 S = 29.18
8 Adapted 1/ 4 1:57.54
29.29 1:00.08 1:28.80
1 8% 1t 3 29. 29
2 WNE 1% =3 30. 79
3 REH EF = 28.72
4 TEH RS E2 28. 74
9 T A LSS 1/ 6 1:57. 88
29. 46 59.93 1:29. 34
1 Bl EHE = 29. 46
2 WH o ERe = 30. 47
3 i I =) 29. 41
4 =5 FEH = 28. 54

HHHBE: 7TH31H 15:20



%%@éhMX4iyﬁ7§7§$m%%&ﬁé 2/2
23 ya— o\ )~—lry 8T 7 T 23— HkE (50m)
HIH : 20258E7H30H (k) ~7H31H (OK)
No. 131 &L+ 4x50m 21)—1) L— B A LL—RREH smm 14981
& 15~18% > = o
F—L% K% s [
10 GOLD’ SGYM 2/ 7 1:58.20
28.99 59.34 1:28.51
1 IR e =3 28. 99
2 WEH  FifE 3 30. 35
3 UEH A =31 29.17
4 T Fnm 52 29. 69
11 EJ)SSEH |k 2/ 2 2:00.09
28.97 58.73 1:29.78
1 fEHOMY 3 28.97
2 AR R =31 29. 76
3 uHhMETAE 13 31.05
4 hE RS il 30.31
12 HARSC 1/ 2 2:03.71
20.41 1:03.07 1:34.97
1 R RRA A i3 29. 41
2 KK BHE =) 33. 66
3 TR 3 31.90
4 #Il B =) 28. 80

HHHBE: 7TH31H 15:20



